PHYS 125

Formula Sheet

Spring 2015

In showing work, these formulas may be used without derivation.

CONSTANTS
v=2343m/s  ¢=2.998 x 10®m/s
Pair = 1.21kg/m?

Prefixes: f- = 1071°
e=1.602x 107" C
me = 9.11 x 1073 kg
m, = 1.67 x 107" kg
k= 8.99 x 10° Nm?/C?
g0 = 8.85 x 1072 C*/Nm?
po = 4m x 107" Tm/A
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MECHANICS
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PHYS 125 Formula Sheet Spring 2015

In showing work, these formulas may be used without derivation.

ELECTROSTATICS
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MAGNETIC FIELD
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PHYS 125

NOT on the Formula Sheet

Spring 2015

TO BE MEMORIZED

CONSTANTS
metric prefixes G, M, k, ¢, m, y, n , p
)\Visible ~ 500 nm
Nair ~ 1.000
1
N 471'50
1eV=1602x10""]

CIRCUIT ELEMENTS

MAGNETIC FIELD
ol
B="—
2R

MATH
circle: 2rR 7wR?
right triangle: C? = A% + B2
A-B=A,B,+ A,B,+ A.B. = AB cos(f)
|A x B| = ABsin(f)
Right Hand Rule

Supplied if Necessary,
Need NOT Memorize

Any electric field, magnetic field, or elec-
tric potential that can be obtained by inte-
gration, unless the question is intended to
test your ability to perform that integra-
tion.
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C% cos (kx) = —ksin (kz)
1
/COS (kx)dr = % sin (kx)
MECHANICS
Z F =ma
WAVES
: dy
transverse velocity from u = pr
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